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Group 1

Indicate where each item (1 through 10) would be found in the following sections of a classified balance sheet and income statement of Sunflower Leasing, Inc.  Write the identifying letter(s) of the correct section(s) on your answer sheet.

	A
	Administrative Expenses
	
	G
	Operating Revenues

	B
	Cost of Merchandise Sold
	
	H
	Other Expenses

	C
	Current Assets
	
	I
	Other Revenue

	D
	Current Liabilities
	
	J
	Property, Plant and Equipment

	E
	Investments
	
	K
	Selling Expenses

	F
	Long-Term Liabilities
	
	L
	Stockholders’ Equity


  1. Paid-in Capital in Excess of Par



  2. Federal Income Tax Payable


  3. Loss on Plant Assets

  4. Book value of accounts receivable

  5. Unearned Rent

  6. Microsoft, Inc. (stock)

  7. Beginning-of-year merchandise inventory

  8. Dividends Payable

  9. End-of-year merchandise inventory

10. Retained Earnings

Group 2

For questions 11 through 13, write the correct amount on your answer sheet.  The Buttercup Company bought a truck on January 1, 1998 that had an original cost of $32,500, with an estimated salvage value of $2,500 and an estimated useful life of 10 years.

11. What is the book value as of 1-1-01 using the straight-line method?

*12. What is the book value as of 1-1-01 using the double-declining balance method?

13. If this same truck had been purchased on July 12, 1998, what would be the book value using the straight-line method as of 1-1-01?

Group 3

For questions 14 through 28, on your answer sheet write the identifying letter(s) of the correct account(s) to be debited or credited for each entry.

	A
	Accumulated Depreciation
	
	H
	Interest Expense

	B
	Allowance for Uncollectible Accounts
	
	I
	Interest Income

	C
	Depreciation Expense
	
	J
	Interest Payable

	D
	Dividends
	
	K
	Interest Receivable

	E
	Federal Income Tax Expense
	
	L
	Merchandise Inventory

	F
	Federal Income Tax Payable
	
	M
	Retained Earnings

	G
	Income Summary
	
	N
	Uncollectible Accounts Expense


The question numbers are listed in the appropriate debit and credit columns.  The “XXXX” indicates that no response is required.

	
	DEBIT
	CREDIT

	Reversing entry for accrued interest expense
	14.
	15.

	Adjusting entry for actual income tax owed
	16.
	17.

	Closing entry for Interest Income
	XXXX
	18.

	Reversing entry for accrued interest income
	19.
	20.

	Adjusting entry for the uncollectible accounts expense for the period
	XXXX
	21.

	Adjusting entry for a decrease in merchandise inventory
	22.
	23.

	Adjusting entry for the depreciation expense for the period
	XXXX
	24.

	Closing entry for the account called Dividends
	25.
	26.

	Closing entry for Income Summary with a net loss
	27.
	28.


Group 4

For question #29, write the correct amount on your answer sheet.  Some of the subtotals on a worksheet before net income or net loss is calculated are as follows:

	Income Statement Debit
	$143,000

	Income Statement Credit
	        ?

	Balance Sheet Debit
	    64,870

	Balance Sheet Credit
	    97,410


29. What is the amount of the Income Statement Credit column subtotal before net 

      income or net loss is calculated?

Group 5

For questions 30 through 34, write the correct amount on your answer sheet.  Use the banker’s year of 360 days and round to the nearest dollar.

The Lantana Company adjusts its books monthly using the accrual basis of accounting and closes its books at the end of its fiscal year, which is Dec. 31.

On December 9, 2000 the company signed an interest-bearing note payable for $2,250 for 30 days at 8%.

30. What is the face value of the note?

31. What is the maturity value of the note?

*32. What amount of interest expense should be accrued for the year 2000?

The Lantana Company also signed a $4,000, 90-day non-interest-bearing note payable on December 10, 2000 that the First National Bank discounted at a rate of 9%.

*33. What is the maturity value of the note?

34. What amount would be recorded in Discount on Notes Payable on 12-10-00?

Group 6

The Bluebonnet Co. has the following information about an item it sells for $10 each.  During the year the company sold 246 units.  Round to the nearest cent.

	
	
	Number of

Units
	Cost per Unit
	Extended Amount

	Jan 1
	Beginning Inventory
	50
	2.00
	100

	Apr 8
	Purchase
	80
	2.25
	180

	July 14
	Purchase
	40
	2.45
	98

	Aug 8
	Purchase
	20
	2.50
	50

	Nov 2
	Purchase
	36
	2.75
	99

	Dec 4
	Purchase
	95
	2.80
	266

	
	
	321
	
	793


For questions 35 and 36, write the correct amount on your answer sheet.

35. What is the amount of gross profit for the year if the FIFO method of inventory 


      valuation was used?

*36. What is the amount of gross profit for the year if the LIFO method of inventory 

       valuation was used?

Group 7

Crimson Clover Company’s unadjusted trial balance for the year ended 12-31-00 reflects the following:

	Total Assets
	65,410

	Total Liabilities
	3,900

	Capital
	8,255

	Total Revenue
	102,960

	Total Expenses
	49,705


After examination of the accounts, the following errors are detected, and each error affects both the respective balance sheet and income statement accounts:

	
	Overstated
	Understated

	Salaries Payable
	650
	

	Prepaid Insurance
	80
	

	Interest Payable
	
	95

	Office Supplies (ending inventory)
	
	75

	Depreciation Expense
	50
	

	Unearned Revenue
	
	250

	Allowance for Uncollectible Accounts
	
	225


For questions 37 through 40, on your answer sheet write the correct amount after all corrections and adjustments are made, but before the accounts are closed.

37. Total Assets

38. Total Liabilities

39. Total Revenue

*40. Total Expenses

Group 8

At the end of its fiscal year, before any adjusting entries are recorded, the following information is available:

	Accounts Receivable
	$4,820

	Allowance for Uncollectible Accounts
	$375 credit

	Charge sales
	$73,750

	The aging of accounts receivable indicates

uncollectible accounts of
	$1,650


For questions 41 and 42, write the correct amount on your answer sheet.

*41. What is the amount of bad debt expense if the aging method is used to estimate 


     uncollectible accounts?

42. If instead the company were to estimate Uncollectible accounts based on 2% of


     charge sales, what is the amount of bad debt expense?

Group 9

The following balances appear in the general ledger accounts of a corporation on December 31, 2000, after closing entries were posted at the end of the fiscal period.

	5% Preferred Stock ($100 par)
	$550,000

	Common Stock ($8 par)
	44,000

	Paid-in Capital in Excess of Par—Common
	12,000

	Retained Earnings
	862,750

	Dividends—Preferred
	       -0-    

	Dividends—Common
	       -0- 


The corporation is authorized to issue 10,000 shares of preferred stock and 40,000 shares of common stock.

The following are all the transactions that occurred in 2000 that affected the stockholders’ equity accounts.

	Jan 2
	The board of directors declared the annual cash dividend on the preferred stock issued to all stockholders of record as of January 12, 2000 payable on February 10, 2000.

	Feb 10   
	Paid the preferred stock cash dividend.

	May 10   
	The board of directors declared the annual cash dividend of $2.00 per share on the common stock to all stockholders of record as of May 20, 2000, payable on June 15, 2000.

	June 15  
	Paid the common stock cash dividend.

	Aug 1
	Issued 3000 shares of 5% preferred stock at par.

	Sept 1    
	Issued 500 shares of common stock at par.

	Nov 1     
	Issued 2,000 shares of common stock for $10 per share.

	Dec 31  
	Closed the net income for the year of $348,975

	Dec 31  
	Closed the two dividend accounts.


For questions 43 and 44, write on your answer sheet the correct number of shares of stock issued as of January 1, 2000.

43. 5% Preferred Stock

*44. Common Stock

For questions 45 through 49, write on your answer sheet the correct amount of the beginning balance as of January 1, 2000 for each of the following accounts:

45.  5% Preferred Stock

46. Common Stock

47. Paid-in Capital in Excess of Par—Common

**48. Retained Earnings

49. Dividends--Common

Group 10

For items 50 through 56 on your answer sheet, write TRUE if the statement is true; write FALSE if the statement is false.

50. The total earnings of an employee for a payroll period is referred to as the net pay.

51. A deferred revenue would arise from the acceptance of payment in advance for a 

      service to be performed in the next period.

52. Payroll taxes for unemployment benefits must be paid by both employee and 

      employer.

53. On a non-interest-bearing note, the face value of the note is the same as the 

      maturity value.

54. When a company uses the account called “Discount on Notes Payable”, interest 

      expense for a non-interest-bearing note is recorded on the maturity date.

55. When a note is signed, the payee agrees to repay the note within a certain period of 

      time.

56. Regardless of whether a note is interest-bearing or non-interest-bearing, the interest

      charge is based on a percentage of the note’s face value.

Group 11

For questions 57 through 66, write the identifying letter of the best response on your answer sheet.

57. Accruals are required when


A. already recorded revenues apply to two or more accounting periods


B. there are unrecorded revenues


C. already recorded expenses must be spread out over two or more accounting


     periods

58. Which basis of accounting recognizes revenue and expense only when cash is 


received or paid out?


A. accrual basis


B. deferral basis


C. cash basis


D. matching basis

59. Which of the following is not an example of accrued expenses?


A. premiums paid in advance on insurance policies


B. salaries earned by employees not yet paid to them


C. property taxes owed but not yet paid



D. unpaid interest incurred on promissory notes

60. A deferred expense is the same thing as a/an


A. unearned revenue


B. Office Supplies Expense


C. accrued interest expense


D. prepaid expense


E. Accumulated Depreciation

Group 11 continued

61. Unearned Revenue is classified as a


A. revenue


B. current liability


C. long-term debt


D. capital stock

62. Which of the following is a written permission to operate as a corporation that spells 

      out the rules under which a business must operate?


A. declaration


B. corporate agreement


C. charter


D. corporate rit

63. The term “authorized capital stock” is the


A. par value per share


B. number of shares issued to shareholders


C. number of shares of preferred stock only


D. maximum number of shares a corporation may issue

64. If a stockholder cannot attend the stockholders’ meeting, the stockholder may send 


in a/an ____, which gives the stockholder’s voting rights to someone else


A. absentee ballot


B. PIC ballot


C. proxy


D. declared ballot

65. Unearned revenues, prepaid expenses, accrued expenses, and accrued revenues


are all examples of


A. accounts with credit balances


 


B. accounts with debit balances





C. items that have associated contra accounts



D. items that require adjusting entries


E. Income Statement accounts

66. The current liabilities of the Baker Company are


A. due, but not payable for more than a year


B. due and receivable within a year


C. due, but not receivable for more than a year


D. due and payable within a year

Group 12

Refer to the information in Table 1 on page 10.  You may remove the table pages from the staple for convenience.  For questions 67 through 71, consider each transaction INDEPENDENTLY and write the identifying letter of the best response on your answer sheet.

(Hint:  How did the working capital, current ratio, and quick ratio change from before the transaction on December 31, 2000 to after each independent transaction?)  For any computations, round decimals to two places (hundredths).

*67. What effect did Transaction #1 have on the following?



Working
 Current
 Quick



 Capital
   Ratio
  Ratio

A. decrease
decrease
decrease


B. no change
 increase
 increase


C.  increase
 increase
 increase


D. no change
no change
no change

68. What effect did Transaction #2 have on the following?



Working
 Current
 Quick



 Capital
   Ratio
  Ratio

A. decrease
decrease
decrease


B.  increase
no change 
no change


C.  increase
 increase
 increase


D. no change
no change
no change

69. What effect did Transaction #3 have on the following?


     Working
 Current
 Quick



 Capital
   Ratio
  Ratio

A. decrease
decrease
decrease


B. no change 
decrease 
decrease


C.  increase
 increase
 increase


      D. no change
no change
no change

*70. What effect did Transaction #4 have on the following?

           Working
 Current
 Quick



 Capital
   Ratio
  Ratio

A. decrease
decrease
decrease


B. no change 
decrease 
decrease


C.  increase
 increase
 increase


      D.  decrease
no change
no change

71. What effect did Transaction #5 have on the following?

           Working
 Current
 Quick



 Capital
   Ratio
  Ratio

A. decrease
decrease
decrease


B. no change 
 increase 
 increase


C.  increase
 increase
 increase


      D. no change
no change
no change

Group 13

Refer to the data in Table 2 on pages 11 through 13.  For questions 72 through 80, write the correct amount on your answer sheet.

72. What is the book value of accounts receivable after the adjusting entries?

73. What is the amount of total assets?

74. What is the amount of total liabilities?

*75. What is the balance of Retained Earnings on 12-31-00 after closing entries?

*76. What is the amount of net income after federal income taxes?

*77. What is the amount of total expenses?

*78. What is the amount of net sales?

**79. What is the amount of Sales Discounts?

***80. What is the amount of Purchases?

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director calls for them.  Thank you.

Table 1

(for questions 67 through 71)

The following balances appear on the financial statements of The Garden Center, Inc. for the year ended December 31, 2000.

	Cash in Bank
	180,000
	
	Notes Payable (due in 3 months)
	50,000

	Accounts Receivable
	195,000
	
	Accounts Payable
	215,000

	Merchandise Inventory
	193,000
	
	Dividends Payable
	0

	Prepaid Insurance
	40,000
	
	Federal Income Tax Payable
	10,000

	Supplies on Hand
	7,000
	
	Sales Tax Payable
	25,000

	
	
	
	Notes Payable (due in 14 months)
	50,000


The following transactions occurred in the year 2001:

1. Paid $100,000 on accounts payable.

2. Received $150,000 through a loan, by signing a note that stated the entire 

    balance is due in 18 months.

3. Received $100,000 on account.

4. Declared a cash dividend of $125,000.

5. Paid $50,000 on the note that was due in 14 months.

Table 2

(for questions 72 through 80)

The accountant for Wildflowers, Inc. prepared the complete and accurate financial statements as of December 31, 2000 on a spreadsheet program.  Just as he was about to perform the final save of his work, lightning struck and his computer began to smoke.

Several days later after his new computer was installed, he opened the saved file from the diskette and printed the financial statements on pages 12 and 13.

Additional Facts:

1. The unadjusted trial balance of the work sheet for the year ended 12-31-00 indicates normal balances of Accounts Receivable of $52,500 and Allowance for Uncollectible Accounts $210.  The company uses the aging of accounts receivable method to estimate bad debts expense.  The aging indicates $1,050 to be uncollectible.

2. The unadjusted trial balance of the work sheet for the same period shows normal balances as follows:  Merchandise Inventory $9,610; Supplies $2,740; Prepaid Insurance $4,290.

3. Equipment consists of one asset bought on 7-1-99, with a salvage value of $35,000, and an estimated useful life of 10 years.  The straight-line method is used.

4. Common stock consists of 50,000 shares authorized and 15,000 shares issued.  The 15,000 shares had been issued in 1997 for $3 per share.

5. The board of directors of Wildflowers, Inc. declared an annual cash dividend on common stock of 75 cents per share to all stockholders of record as of December 1, 2000, payable on January 5, 2001.

6. The company borrowed $50,000 on December 11, 2000 at 9% for 90 days.  (Use banker’s year of 360 days and round to the nearest dollar.)  This was the only loan the company took out all year.

7. Gross sales for 2000 had increased by 6.25% over gross sales in 1999.  Gross sales in 1999 were $84,640.

8. Sales Returns & Allowances were equal to 4.2% of net sales for 2000.

9. Return on sales is equal to 12.75%.  (For purposes of this ratio, net income is after tax.)

10. The gross profit percentage is 45% of net sales.

11. The federal income tax rate is 15% of net income before federal income taxes.

Wildflowers, Inc.

Income Statement

For the Year Ended December 31, 2000

	Revenue:
	
	
	
	

	 Sales
	
	
	 
	

	 Sales Returns & Allowances
	
	
	
	

	 Sales Discounts
	
	
	
	

	   Net Sales
	
	
	
	

	Cost of Merchandise Sold:
	
	
	
	

	 Merchandise Inventory, Jan. 1
	
	
	
	

	 Purchases
	       
	
	
	

	 Transportation In
	           2,620
	
	
	

	 Cost of Delivered Merchandise
	
	 
	
	

	 Purchases Returns & Allowances
	           1,750
	
	
	

	 Purchases Discounts
	              980
	 
	
	

	 Net Purchases
	
	
	 
	

	 Cost of Merchandise Available for Sale
	
	
	 
	

	 Merchandise Inventory, December 31
	
	
	 
	

	   Cost of Merchandise Sold
	
	
	
	

	Gross Profit on Sales
	
	
	
	 

	Expenses:
	
	
	
	

	 Rent Expense
	
	
	           7,080     
	

	 Insurance Expense
	
	
	           2,690
	

	 Supplies Expense
	
	
	           1,850
	

	 Utilities Expense
	
	
	         1,290
	

	 Bad Debts Expense
	
	
	
	

	 Depreciation Expense
	
	
	 
	

	 Interest Expense
	
	
	
	

	    Total Expenses
	
	
	
	

	Net Income Before Fed. Inc. Tax
	
	
	
	

	Less Federal Income Tax Expense
	
	
	
	

	    Net Income After Fed. Inc. Tax
	
	
	
	


Wildflowers, Inc.

Statement of Retained Earnings

For the Year Ended December 31, 2000

	Retained Earnings, January 1, 2000
	142,040

	Net Income After Federal Income Tax
	

	Less: Dividends
	

	Retained Earnings, December 31, 2000
	


Wildflowers, Inc.

Balance Sheet

December 31, 2000

	ASSETS
	
	
	

	 Cash in Bank
	
	         75,450
	

	 Accounts Receivable
	         52,500   
	
	

	 Allowance for Uncollectible Accounts
	 
	 
	

	 Merchandise Inventory
	
	            8750
	

	 Supplies
	
	
	

	 Prepaid Insurance
	
	
	

	 Equipment
	       135,000
	
	

	 Accum. Depr.—Equip
	
	
	

	    Total Assets
	
	
	 

	LIABILITIES
	
	
	

	 Accounts Payable
	
	         10,650
	

	 Dividends Payable
	
	
	

	 Interest Payable
	
	
	

	 Notes Payable
	
	
	

	     Total Liabilities
	
	
	

	
	
	
	

	STOCKHOLDERS’ EQUITY
	
	
	

	 Common Stock, $2 par
	
	
	

	 Paid-in Capital in Excess of par
	
	
	

	 Retained Earnings 
	
	
	

	   Total Stockholders’ Equity
	
	 
	

	
	
	
	

	Total Liabilities and Stockholders’ Equity
	
	
	 


